
GS SCORE 15

GS S
CORE

Select the correct answer using the code given 
below:

1 only(a) 

2 only(b) 

Both 1 and 2(c) 

Neither 1 nor 2(d) 

Consider the following statements:82. 
Positive growth always leads to 1. 
development.
Growth is quantitative and value neutral.2. 
Level of Human development depends 3. 
upon availability of choicesto people’s 
and  quality of their lives.

Which of the above statements is/are correct?

1 and 2(a) 

1 and 3 only(b) 

2 and 3 only(c) 

1, 2 and 3(d) 

Consider the following statements:83. 
The population added during the decade 1. 
2001-2011 was lesser than the previous 
decade.
In 2011 the proportion of Child Population 2. 
in the age group of 0-6 years to total 
population is lesser than the 2001 fi gure.
The under 6 child sex ratio in 2011 shows 3. 
a continuous increasing trend.

Which of the above statement is/are correct?

1 only(a) 

2 only(b) 

1 and 2 only(c) 

1, 2 and 3(d) 

Which of the following statements 84. 
is/are not correct about inland 
waterways?

Inland waterway rout requires very low 1. 
maintenance as compared to sea routs.
Navigability aff ects the development of 2. 
inland waterways.
Rivers are the sustainable means of 3. 
transport in dense forests.

Select the correct answer using the code given 
below:

1 only(a) 

1 and 2 only(b) 

2 only(c) 

3 only(d) 

Which of the following statements 85. 
best represents the features and 
pattern of Indian urbanization?

Lopsided urbanization induces growth of 1. 
class I cities.
High decadal growth in urban population 2. 
is attributed to large scale migration from 
rural to urban migration.
In terms of absolute number of persons 3. 
living in urban areas, maximum lives in 
Maharashtra state.

Select the correct answer using the code given 
below:

1 only(a) 

1 and 2 only(b) 

2 and 3 only(c) 

1, 2 and 3(d) 

Which of the following is not 86. 
the characteristic of Foot Loose 
Industries?

Their location is not place specifi c.(a) 

They primarily locate in clean (b) 
environment.

They do not depend on non-weight losing (c) 
raw material.

All of the above(d) 

Which of the following statements is/87. 
are correct about mining?

Open-cast mining needs high level of 1. 
safety.
Underground mining method is not 2. 
preferable when minerals are lies at great 
depth.
Developing countries are showing 3. 
retreating  trend in mining,


